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X#H = |EK 16 | 50m | FikE | 30.28

=ZE BH | 14| 50m | &Hik= £ | 50m | nNa754 32.45

Fik 5F |[PF 14| 50m | BAEF 32.39

KH*F B e 14| 50m | BEH 2737 |[50m]| 4731 29.27

BIE A [$F 13| 50m | k= 3460 |[50m| FEk=E 35.83

INK 2B |F 13| 50m | BHE# 26.23 |50m| n4734 | 2895

HAZEEER [P 13| 50m | BAEF 2083 |[50m| FEk=F 36.67

BERALERE [ 13| 50m | BAEH 3180 [50m]| HEk= 4138 |50m| Fk=F 43.25

NI BE | 13| 50m | Fik= 3870 [50m| BB 31.08 |[50m]| Hik= 39.06

8H KE |[9F 13| 50m | BHEF 2787 |50m| n4734 | 3052

g KBk |[PE¥ 12/ 50m | HEf | 2894 |50m| FikE | 35.00

MHE EX |/hF 12| 50m | BAEH 3326 |50m]| Eik=E 4075 |50m| Fk=F 39.61

g xR |[NhEFE 12| 50m | BEHEFE 3215 |50m| &ik=E 37.21 50m | N4751 33.58

Bl B3 |[hEF 12| 50m | BAEF 4723 |50m| Fk=F 57.52

iR Z49  [hEFE 12| 50m | BAEF 3095 |[50m]| k= 3573 |[50m| FEk=FE 41.61

SIE \Jim |/ 12| 50m | BEE 4082 |[50m| &Fik=x 4524 | 50m| N4734 4272

BIE &8 |[/IhE 11| 50m | k= 3968 |[50m| FEk=E 47.02

JEE INEE 11| 50m | BAEF 36.62 |50m| Fik= K

NEAXAE |/MF 11| 50m | FixE 4318 | 50m| n4734 36.05

KA #£H |[/IhF 11| 50m | BAEF 3493 [50m/| HEk=E 4276 |50m| FEk=F 44.99

BRENEE [/NF 11|50m| BEE 3551 |50m| Fk=F 5027 |[50m| n4731 36.99

AH WEE |hE 11|50m| BEEE 4143 |50m| &Fik=x 4556 |50m| nN47754 42.88

=8 ME |DF 11| 50m | &Hik= 39.75 |[50m| Fk=FE 4735 |50m| nN4734 38.34

INGR E INGE 11|50m| BEEFE 3923 |[50m| &K= 4696 |50m| N4754 4465
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= KH# [/ 10| 50m | BEFZ | 3900 |[50m| n4751 | 46.71

NI B [V 10| 50m| BHEFZ | 4656 |[50m| FHikZE 5480 |50m | FEixk= | 1.02.94
i R S D\ 10| 50m| BARf | 3583 [50m| BHik=E | 4017 |50m| Fik=F | 4732
2 B |hE 10| 50m | BHEf | 3942 |50m | BHiok= | 4398 [50m| FikE | 43.77
e 88 [EF 10| 50m| BHE#FZ | 3888 |[50m| FikFE 5336 |50m| N47531 | 4397
Tk = [Ih# 50m| EEfs | 4334 [50m| FikE | K

B BD [ 10| 50m| BARf | 3596 [50m| &Hik= | 4563 |50m| Fik= | 52.83
A KR |/IhZ 10| 50m| BHEFZ | 3434 |[50m]| FHikFE 4189 |50m| FEpk= | 41.67
ZIE 5E; INZE 10[50m | BHR# [ 36.62 [50m| Fik=E | 51.13 |50m ]| n4734 | 40.75
BE Fh |F 10|/ 50m| BBE#Z | 3719 [50m| FHikFE | 44.42

IBEEH & [/F 10| 50m | FikE | 1.10.44

Mk [hE 10| 50m | BEFE | 3917 |[50m| &k=E | 4249

=111 10| 50m| FHik= | 4479 |[50m| n4754 Ey

IE BN [ 9 |50m| EHHFZ | 4051 |50m| Fk=F | 51.65

RNHE £E |/IhF 9 |50m| EHHFZ | 4357 |50m| Fk=XF | 59.74

B BB [ 9 [50m| BHFZ| 4817 |50m| Fix=xE | 1.05.56

R BEE [ 8 |50m| HEM | 4162 |50m| #ikE | 4750 |50m| n4774| 46.64
hlll #hil |/ 7 |50m| BEHf | 4962 |50m| FikE | 10444 [50m | n4774 | 56.67
B A | 7|50m| HERZ | 5093 |50m| FikE | KM [50m| n4734 | 1.0277
WERAE [IMVF 11|50m| BEFZ | 4425 |50m| FEk=F | 56.09

Ak BE  |F 10 | 50m | HikE | 43.24

Bk FE |hF 10| 50m| BARf | 3826 [50m| &Hik= | 4384 |50m| n4734| 4153
FERLAH  [IME 9 [50m| BHFZ | 3495 |[50m| FixxE | 4282

Mgk £/ [/hE 9 |50m| BAEF.| 3645 |50m| &Hik=E 4578 [50m| n4731 | 43.72
T8 BIE  |[/F 9 |50m| BHf | 3479 |50m | &ik= | 4227 [50m| n'4754 | 38.81
KEF HFX  [/hE 9 |50m| BHf | 3578 |[50m | BHik= | 4815 |50m| FpkF | 51.32
BEERE |/F 9 [50m | BHEH | 4586 |[50m| FHik=E | 5445 |50m| FEik=F | 5551
hil BRE [hF 8 |50m | #Eik¥E | 5340 |50m| FikEF | 56.10

mEgELnsES [IhE 8 |50m| BHHf. | 4822 |50m| &Hiok= | 5243 [50m| FikE | 57.97
M EETE |[NF 8 |50m| A | 1.00.17 |50m | Fik=E K

EE Zih | 7 |50m| EHEHR | 1.00.26 |50m| Fik= | 1.09.78




	速報

